
Sec 9.7 
pgs. 408 – 409 
#1 – 4, 7 - 10 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 
 
 



    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
     
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

a. Find the ratio of the longer leg to the hypotenuse in a 30 – 60 – 90 triangle 
 
 
 
 
 
 
 

b. Find the ratio of one of the legs to the hypotenuse in a 45 – 45 – 90 triangle.  
 
 
 


